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N.B.:
1) All questions are COMPULSORY.
2) Figures to the RIGHT indicate full marks.

Q.1 “Crime is an act which group regards as sufficiently menacing to its (12)
fundamental interest to justify formal reaction to restrain the violator”.
Discuss the concept of crime and criminal liability.

OR
Explain the meaning of Grievous hurt. Discuss the aggravated forms of
hurt and grievous hurt.

Q.2 Explain the meaning and definition of Rape. Discuss the ingredient of the (12)
offence of Rape and its punishment.

OR
What is Punishment? Discuss the elements and kinds of Punishment liable
under the provisions of the Indian Penal Code, 1860.

Q.3 Examine the ratio of the judgments given to tollowing case laws (12)
(ANY TWO)

a) Arushi Talwar Murder Case
b) Joseph Shine v.Union of India
¢) Nirbhaya Case

d) Nithari Serial Murder Case

Q4 Explain the term of Defamation. Discuss the exceptions to the offence of (12)
Defamation.
OR
“All Murders are homicides, but all homicides are not murders™ Justify.

Q.5 Solve ANY TWO of the following: (12)

a) ‘A’ instigate ‘B’ to give false evidence. ‘B’ in consequence of the
_investigation, commit an offence. What offence ‘A’ has Committed?

b) A’ has taken a house from ‘B’ on rent. ‘A’ has gone out after closing the
house. ‘B’ puts his own lock on the premises in “A’s absence. What
offence ‘B’ has Committed?

¢) ‘A’ sees ‘Z’ drop his purse with money in it. ‘A" picks up the purse with
the intention of restoring it to *Z’, but afterwards appropriates it to his own
use. ‘A’ has committed an offence under which section?

d) ‘A’ internationally gives ‘Z’ a sword- cut or club- crowd sufficient to
cause the death of a man in the ordinary course of nature, *Z’ dies in
consequence. What offence ‘A’ has Committed?
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